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Item Description:

Q.no. Question Competency | Knowledge | Context Difficulty
type level
Q1 Open ended | Interpret data | Content Global Low
Q2 Closed Evaluate and | Content Global Medium
constructed | design a
scientific
query
Q3 Closed Interpret data | Content Global Medium
constructed
Answer Key:

Answer 1. Omnivores like bears, crow, man and carnivores like lion, tigers, lizard at the
topmost trophic level.

Herbivores like deer and cow at second trophic level

Plants at the first trophic level.

Answer 2. i. AGREE

ii. DISAGREE
iii. DISAGREE

iv. AGREE

Answer 3. First level/Plants
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Item description:

Q.No. Question Competency | Knowledge Context Difficulty
type level
Q1 Closed Interpret data | Content Local Low
constructed
Q2 Closed Interpret data | Content Local Low
constructed
Q3 Closed Interpret data | Content Local Low
constructed
Q4 Open ended | Evaluate and | Content Local Medium
design a
scientific
query
Q5 Open ended | Evaluate and | Content Local Medium
design a
scientific
query
Answer Key:

Answer 1. a. animal b. plant c. plant d. animal e. plant
Answer 2. salt
Answer 3. protein, fats, vitamins and minerals

Answer 4. Any protein rich vegetarian food item- pulses, tofu etc; Proteins help to build
new cells, repair damaged cells and help in overall growth of the body.

Answer 5. No, source of carbohydrates is missing so | would add carbohydrate rich
food item-for example bread, chapatti etc
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Item Description:

Q.no Q.type Competency Knowledge Content Difficulty Level
1 Simple Multiple | Scientific Enquiry Global Low

2 Simple Multiple | Scientific Enquiry Global Medium

3 Simple Multiple | Scientific Enquiry Global Medium

4 Simple Multiple | Scientific Knowledge Global High

5 Open Ended Interpret Data Global High

6 Open Ended Interpret Data Global High

Answer Key :

2. ¢> full credit>2, any other option >0
3. ¢> full credit>2, any other option >0

4. a> full credit>2, any other option>0

1. d. full credit>2, any other option>0

5. a. True b. True c. False d. False e. True, All correct full credit>b any three

answer >0

correct>1, any one correct>0

Scurvy, Reduced immunity,

Bone,

Tooth decay (Any other relevant example) >full credit>2, any two>1 no




I HT FdS
& faare 3R gl & a7 & 3ol
eIl 6
eI 3
HEYT T AH: dod § IEF doh
3TTUROT: HUTH FHT HdS
d@sl & gfdwer: fagard
* deAMAR FAUROMIT & AT T o6 X Hehal |
* Y&l & 3ccd] I el & T Tl ST HI ATl hL Teohdl |
* HUE & G @ HUH ded & [AHOT A AR RO T sgrEdr w1
Fehal |
$qry:

HUTE I GIUT Teh FTS g1 TE diell AL 3R a8 Siefarg &
3= g U Fedl gl S/ HALYH guT &I TGS dr g1 HIg Teh oA
ded & S ®UE & i & &I & HHIE Fel gl e ghR &
gET 3cUle, U @ §0 S g1 $Rd &, T, Teh gy & gar &l
AT ®9sT §,31 & Surd § Sa1:1 ST g

‘(1) -t
= -
& )
y =
-
7
d = ‘
The cotton plant has a small, Whean the cotton boll matures, it splits
green fruit called the cotton open, exposing the raw cottan fibres.
boll. The boll has seeds 'ha heat of the sun dries these fibres,
inside, which are surrounded Aftar the fibres have dried, the crop s
by cotton fibres harvested

Onge the cotton Is harvestad, It is sent for The fibres are cleaned and made Into long
ginning, where the fibres (called lint) are thread-like strands. The fibres are spun using
saparated from tho seeds. This separation spinning machines 16 form colton yarn, The

Is brought about with the help of strong air process of making yarn from fibres s called
currents. [Raw cotton (A) before ginning and spinning. Yam Is then made into cotton fabrics
ginned cotton (B).] by weaving

Fig. 4.5 Production of cotton
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3cqTeet: huTH HENTSE, IoRId, TSI, IS, dfAeeg 3R A

Y&l & 39MAT AT &

1. U &I Hell STTH I 3R I gd & 38 I T ... gl SITdar
J

a) %ol

b) Hel

c) Mol

d) f@ar g3m ge

2. UM AR T T ¥ 3SRAT STl §1 Aol I ehclel Fleh slol
T 37er9T TRaT ST 81 59 UfhaT & :uITd &I ... el ST gl

a) Ffferar

b) 3fieaT

c) STiRer

d) s

3. v & fArAfaf@a & & fofa T & 39mar Srar g

a) &slcah

b) fegR

c) S 3R FHR

d) FAERISE

4. Frel A AR a3 SFoarg are &7 & fohg W are 9 Y 39T
rfgu?

(a) urd

(b) 3T

(c) 9cHA

(d) AR

5. efaf@a i & @ @l @ ufshar deg 1 U & deoa &
AT &7
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(a) AT — d=g — FU3

(b) deg — @M — HUS

(c) el (a) 3R (b)

(d) 3RIFT H & g aTar

6 &H TAffea AGaAT F TRT-3719T YR & $H9S FAT Ugadd gl guTe
HITaTd |

Item description:

Q.No Q.type Competency | Knowledge Context Difficulty
level
1. Close Explain Content local Low
constructed | phenomenon
scientifically
2. Close Interpret data Content local Medium
constructed | and evidence
scientifically
3. MCQ Explain Content local low
phenomenon
scientifically
4. Close Interpret data Content local Medium
constructed | and evidence
scientifically
5. Close Explain Procedural local Medium
constructed | phenomenon
scientifically
Answer Key:
lc
2.b
3.d
4.a
5b
Scoring:

1.Full credit :c , No credit if Any other response

2.Full credit : b, No credit if Any other response
3.Full credit : d, No credit if Any other response
4.Full credit : a, No credit if Any other response

5.Full credit : b ,No credit if Any other response

13




gIfRIOT TUT SHFT Aged

& YThiceh TaTer

FET - 6

HEATT HE&T: 4

I T ATH: TEIIT & HHAG ToAlT

HIURUT: FarI0T JUT SHHT Hged

drEget & gfawer: facaradt

* faffieet a3t & Fefievor & Fgca F TH |
* GIffROT & ARG P THASI |

§H YT INE-IH AT TR dr a3t A c@d 81 F aEqu
fafdeet IMPR, 1, Sarge, IO IR 3TART AT BT & 54 T3t A
3R @AsT & fOU 3¢ Hegl A FATE FEAT HAgcaqoul gl FAGT drall
S Teh GIY TG TT DI I HHgoA gl Sl 51 FHgeT ¥ §H 31
IS P Wiold H AT @IdT § oI g8 3eTehl aeTehdl gl gl
aEqU Ao uerdf & S gl 81 v 9erd & 3uder e
aEQIT B Tl & AT fhar ST o@har g1 g8 A Hag g i
faffiest gpR & werdt & T Ae-feT gia 81 g7 37 uerat &1 Fer
IO & IMUR W T FLAT g1, fSledeh IMUR O §H  3eTohl 39T
YT A6 o1 et H GReAdeT, coaerelierar, Yo & Ui 3eRyT
FSAT T g, fosTell 1 Alele 3fe ot faffie= o1 81d &1 Fefge
ISl T YA A UIed el H Hag Xl gl Ig Ueh FHAE &
Gl GGl & aR A U HART GUROT &l ¢ 3R Afdes wagh &
el & T X AT g1 9iEl @ 3R, T d gehfa AR Shas
dIel & UR TR, STE-gfedl, snfsar 3R st & oY geficha fohar Siar
gl
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9ReT 1: WHgl H Uardl &1 sics &1 YR &A1 72

V.

3ot ION H FHTA
3T 0T H HeR
arer (i) 3R (i)
STl § HIg eI

T 2 3T IR Ferer S IRATE FH T Joha 272
9T 3 el 3ecR o |

i)

i)

ii)

Vi)

fArfafad & @ Sl a1 gt & gereder 76T &
Glel &7 T, Thehdl, W, ool II3sT
STl I il T aEJ THKAT &

Tellieee 1 Qe gl Fs, el 7 Toa7T, TedT FI gehsT

STl A Pl W I el H el &

ST & PloT T ag IR &

I, a1y, STef, TRl

ferell 9erel T 90T ST Ig 7T AT § T 98 del H Rar g
IqT ST

A, Eeled, 3Udcieh Helehieh, Faafrardst

SAH H Sl Th ST &

e 4 AEfafad # @ i gHg @ @fad a6 § 3R F41?

IR, oY, Uge, o

g2 5 Ife 39 39er g & fov R[AffiesT uarat O s g &1
T YA g, o 3T fohdgenl gotar 3R F1?
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Answer Key:

1-111,2-by oiling the paper,3-( i) turmeric powder (ii) steel spoon (iii) carbondioxide

(iv)charcoal

(v) density (vi) sunflower 4-oil - it does not dissolve in water others dissolve 5-wood,
because it is a non conductor of heat and electricity.

Q No Q type Competency | knowledge Context Difficulty
level
1 M.C.Q Explain content global Medium
phenomenon
scientifically
2 Close Explain epistemic global Medium
constructed phenomenon
scientifically
3 m.c.q Explain content global Medium
phenomenon
scientifically
4 Close Explain epistemic global High
constructed phenomenon
scientifically
5 Close Evaluate content global medium
constructed scientific
enquiry
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forEcelioT
&7 - e 3R defadr & 3ol
HE&ITl: 6
T 5
G &l FATH: Tl s JUFhoT|
HTUROT -JUFhIOT & ek
Ar@ar & gfawer: At -

1. ATl & STAId deli2ley & T W ST &7 ahal|
2. ¢ Shaer & dafae raurRum3y / Rl & @@ |

Wﬁﬁrwwmwﬁﬁ%@m%ﬁv%mm% ,
3SRV & fav g wHg & Ul ¥ Ao arel dd s 7 Fe fedr

Bl &1 38 3G & &Y el & [T IWIed Gishdm &1 g7 fomar
ST 81 Jg Teh UfhaT & S Uk Hleg fdoded @ 30 fheed & &9
H Uk g 3N I 3eFT FIAT gl glelifh TG holleh ITSHRIOT
eheileh & dgc g1 & arsiienior & ole 81 Teh 31 T Y€ AHAT

IIed X Fohd 1 Aol & SRIeT a3 & @ gUaA o $S 3
faafed & o § a1 o s & @hd g

1. Ush Y€ B HI 3Hh Hlog [delded & 3ol el & [T T

(c) HSTH AT
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(d) forEcoliehtor

2. 7 # fews a1 9fehar &1 3uAler gl fhAT ST Fohar ¢ -
(a) THg & Il & UIed AH7F Hr Aqhg & T

(b) 37g FAHA A el & fohtce I 37T HL & v

(C) 3 FAHA A el A A 3l F & AT

(d) 3T T

3. 3T YishdT arsdIehyoT I JolelT H B Ferdf & figerior & fae
UF SN deeilh ¢ Faie -

(a) & 3 T F W famfed g §

(b) &F BN I 3HYE AFE AT &

(c) §H B T g AT AT &

(d) 3TH HF AT 9T §

4. 3F doelle T 39T forges fow fFar siar ¢ -

(a) TRer 9eTd & gofol dTel 31 &l 37T A H

(b) 3T BIF YeTAl Y 3eldl el H ST el Ferdt H & ol 8
(c) ar AT T gerdt &l e et H

(d) & 3TeET-37el9T YhR o SIET Pl 3TeTdT Hlel H

Scoring key
Answer 1

Score 2 if response is (d)
Score0 for any other response

Answer2

Score 2 if response is (d)
Score 1 if response is a or (b) or (c)

Answer3

Score 2 if response is (¢) and (d )
Score 1 if response is (c) or (d)
Score 0 for any other response

18




Answer4

Score 2 if response is( a)
Score 0 for any other response

Item description:

Q.No Q.type Competency | Knowledge | Context Difficulty

level

1. Simple Interpret data | Procedural | Global Medium
multiple | and evidence
choice scientifically

2. Close Explain Content Global Medium
constructed | phenomenon
scientifically

3. Close Explain Content Global Medium
constructed | phenomenon
scientifically

4. Close Interpret data | Content Personal | Medium
constructed | and evidence
scientifically




silfas 3t Tafas aRadal &1 fedwor
&7 - o 3R dlefahr & ol
&Il 6
AT 6
3TEATT FT AT AR IRI 3R aRTd
AHTYROT-GRAcdT & TR
@ & gfawer: faganef
« §iifae IR TEEfAE aRad«ar & 9 A FT Tohar
» gRad=r @ Hifde a1 TEEES, IRAAAT IT IARTTAT o & H
gaffhd T FhaT |
« ¢ Shast & danfeid e &7 Jey A e |

AR 3TH-UTH gl el IRadeT Hifas a1 aafas g @& &
v #ifash aRade 9 & oraH gerd & siifdes T 3Eh I
AT H IRadel & 9T gt ST 81 IRUTATIET Teh grd 379aAT
T FEoldl g, olfhel Uil A TIAAT gi|
Mfas aRade 3HAR W gRad= 3R 3rearh g &1 &
Shiaet & #fifier gRac=l & 3meeor el ®USt I FETEAT ATl Hl
ghsl H GBSl HIH Ee, ol Siear 3N a6 Uied S & T
qleil &7 ST &

s IafAe aRada ag § o av 3k [_fdea gered sqa €
AT g gery I1 verdt # 37 GARRT @ e 01 g & S gRace
& aNTe SIScll & AT FAT Bl &1 9Race 3MAAR W HIRac=1a 3R
TURY I gl
IRIFT SRR & IR R Aeafaf@d geat &7 3cak & -

g 1 fe=ifai@d aRade &l @1 3oer arfd| &7 87 Thdr &7
a) AT FT &d g1 b) ST FHT STHAT
Cc) U &IdTell Trelell d) dishele ol TTEclET|
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YR 2 38 Seelld @ Yol ST Jofel aTiad & el §7?

a) Us &I Fers b) & &1 e

c) AIATC #T STofell  d) el &l Wele|

gl 3 HAFAdcAr ST, Rar 7 Aeafaf@a seoma ¢w-

i) A Nge W|r ar i) AATCAT STl WEr &Y

iii) ATHSCAT T HTHRR A & T AT iv)ﬁuﬁgcmﬂwm
3Wed # 8, YRAdT S 3eIeT & gohdT ¢

a)i & i b) ii 3 iii

c) iii 3 iv d) i 3R iv

YA 4 THF T 5Hb °Giel A 3T hAT ST ThdT &

a) Uil # THF AT Ueh VAT dcolld g [T dFAs &l 717 adh 3R

Rgesr @ aRafda fhar ST @ehdr gl

b) 9Tl H sTHS HeAT T VAT Solld g Sl IRafdd aTal & dehdl

gl

c) Ig TIRT gRadeT &l

d) 38 arsdIeRoT garT gRafdd foar a1 dedr gl

Item description:

Q.No Q.type Competency | Knowledge Context Difficulty

level

1. Close Explain Content | Global Medium
constructed | phenomenon
scientifically

2. Open Interpret data | Content Personal Low
ended and evidence
scientifically

3. Open Explain Content Global Medium
ended phenomenon
scientifically

4. Close Interpret data | Content Personal | Medium
constructed | and evidence
scientifically

Answer Key:

21




la

2.b

3d

4.d

Scoring:

1.Full credit :a ; No credit if Any other response

2.Full credit :b; No credit if Any other response

3.Full credit : d)i and iv; No credit if Any other response

4.Full credit :d ; No credit if Any other response
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el AT AT

& JTehicieh HHTET

HE&TT: 6

g 7

IR &l A 9T &l AT

3TTYROT : M, SsAr 3R 93

A@s & gfawer : facarf

* Sfal &l 3eTehl 3deliheid AT & MR 9T qaffeped T Tehal|
o Gt & STE-gfedl sl 3R St & FF H SAeAT|

a@mwm;?m%agrao—é faferse foreAt & 93 gy #r
Shl U IINMT I g1 577 TH U5 A § o TAcHs &9 & a3
g, ot o AT a1 & el g3 FIOR & fewdr & e
HEcaqUl HSohi & fhelX AlSTelldg Tl & Ueh & R HT 935 yorriaal
I Teh T 9T 3147 g

AET & Ugel UATHS 31. THUH IUTAT Teh giem 9ol & 3R 3@l e
I YoI T H IEHA HfAFT fers o
ﬁﬂmﬁ@mﬁ‘mﬁ%%m’@rqswdﬁqdw§U%3*ﬁT$@f
HRT FT a0 -3 AT AT AT g

NG T HIRA & T &g JhR & Ichse gail I oMmar I &
3eish dalfaleh AHT & AT FS 3TN &

TAATAAT Hehifthell (HGITAT),

3refierereT gfsehr (e),
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cfAATeR—T afaRenr (I81)

fAafoRT 39 (39l & 93) 3R

ghfoced RAfCAERT (o)
 HEEAT, T AR Seae # @ IR g1 A ASgd § 3R Jquor @i
GcH 3d ¢, I IEET § 3970 § 3R S a1 gt favare gidr §

St foh QMET & FETRITOT & v 39 gl © |

GieT: i3 3Mfhed=r #gaT - 2 g} 2017 News

ERGE

1. 3T FH Yga=ar fF 39 e H 391 arell Gien T Us gl

2. &I TSHI & s AHTST W 394 dTel 9iT 318 H BIC 8 &,
AfeheT Foled 3R FEER 814 &1 3 fohg A0l & §72
3. Qe o I AT A8 O fHew

deTleAeh ATH AHE ATH
gahfercew fAfeaERT e
TSATTeRT=eT Sf3ehr CICIEIE
cfiaforar afafe 3ol 1 U3

4. 3oT UST &l AT AT & TIT 3ITJFA AT 872

5. BT I GU-IT ol A ol T Irdsh A1 fAwT M2

Item Description

Q.no Q. Type Competency Knowledge Context Difficulty
Level
1 Close Explaining Content Local Medium
ended phenomenon
scientifically
2 Open Explaining Content Local Medium
ended phenomenon
scientifically
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3 Close Explaining Content Local Medium
ended phenomenon
scientifically

4 Close Explaining Content Local Medium
ended phenomenon
scientifically

5 Close Explaining Content Local Medium
ended phenomenon
scientifically

Answer Key:

Trees are structurally big, have tall strong trunks and spreading crowns.

The plants growing between the two roads are shrubs as they are small and bushy.

Correct match
Scientific name Common name
Eucalyptus citriodora Eucalyptus
Azadirachta indica Neem
Terminalia bellirica Bahera
Terminalia arjuna Arjun tree

These are hardy and stand pollution abuse, are easy to grow and possess all qualities for making

them suitable for city plantation.

Dr MS Randhawa, the first Administrator of the city was a plant lover and played a key role in

beautifying the city.

afa 3R w_Fda
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o Ueh chehlel AT § 3R AT ehehlel H fohclell g3TSaT HiSg & ¥ ST
Tehdl|

o ¥ ST Tehel foh dlel &1 g & forw gsfeat & ufafss = &a forar
ST HehT &

o I TYET FX YR foh WIYST & caRT HARETSH T FI&T Ha
Cicily

{
Y

3 i 3
e

il
WSl

[TIIC

A d i a I r T
AR s\ i e

g =)

SoH o FHAY AT sheplel od1d79T 305 g3f3aT & &1 8T &1 Hheprel H
gsisdl &1 TEAT 34 & WY Feoldl &1 $ g3l & U A1y 3 S
% §1¢ TITP gl d & 206 g3f3AT dh ©C SIdl ¢l §sf8dl o 39
SR A Tl FPET SAdT & | &F A Y JAd ¢ fob Ig AT HT
HepTel 87 8H 30 R & [ffe gsfeal & 3R # F& =g § 2
§H 3T R & $ BEAT T HGYH Heh 38 gsfsal & 3R 3R
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HEIT & aR & F© Il o6 Tohd &1 g3l & Fereh 3R 3R
$I STl T Th Sgd¥ dUHT Al RR & TFF-Y Jiafad e@ar i
g1 T IS AT A9 IRAR & fmdl afFd & R & ot e
ww—imﬁgm%?mﬁ-mﬁaaaﬁaﬂzaﬂ?ﬁ%maﬁégém
gidr &, df 3ieeX 31 TFa-Y Ufdfadl a1 39dier foredr off ganfaa arer
& IR H 9T o & AT HX & SN 833 @7 g3 & Tl &l
TFH-Y AR R H §3f3AT & MR H G@rdl &1 39eT 3rar-sfem3i
ST g, el W3R Sl W #T gsfEar S AggE w9
3T T Ul S H gsf3al 1 TEar @eter fr FHifAer w1 Far
3T 3¢ BY s W AIS Thl § ? U AEIAT Il F farc
gsisdr §? HUell gdell & WS HgHH HY| VAT of9rar g T &5 gsisar
g, T Ig el 8?2 FIAT ITIhT holls oIdlell ¢ ? Tg Hs OBIel gl o
ot § 98 FRUS &gl JA1ar g1 IS SHA hdel Uh ggsr @ df &
gIIT? WIS Th T FS ESRA F T A Y | TE MY, F UH T
FAEcaIOT foEd ARGTSH AT gohell X T B

AT - TAHIS3RET

EECE

UR 1. aIEH HAld H HiSG §3fsdl I HEAT ............. g

a) 102

b) 206

c) 75

d) 305

TRl 2 R & 3T HIIT HI A JdBT il ATEASH Dl Gohdl ¢

a) dFeRol el b) g&al TSR

c) Ufedd FIUEAT d) @asr

ueeT 3 g3l & wfafdd gred aa & fAv wged dshellsh &l =1
a) TFAX
b) g ar3s

~
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d) 39AFT T
g 4 373Tell I g3f3dl - & 39TEAT 8l & PROT 3R ... &
IR & HROT HZ Hohell &

e 5 I8 v foh fArafofad su« acg § a1 F61? (3ck - & /
C))

a) gsf3al r MHfAAT HF TFE-Y HT HGIAT § W ST Hehel g

b) Fea WIS A &3f3AT ST §5 &I & S ool Tl Fehelr &

C) hells H HISG F5 §31SAT A FRUST gl STl § oIl SHeT (T H
ACG T ol

d) AT Herlel # Hiole sl gsfear v il ©l

e) gsf33ar R &1 3FR 3R a1fd ¢ F v TFAeER gl

geaT 6 @aar 3R Jg¢ HT §33T H T Ycdoh &l Th DA a1V |

Item description:

Q.no Q.type Competency Knowledge Content Difficulty Level
1 Simple Multiple Scientific Enquiry Global Low
2 Simple Multiple Scientific Enquiry Global Medium
3 Simple Multiple Scientific Enquiry Global Medium
4 Open-Ended Scientific Knowledge Global High
5 Open-Ended Interpret Data Global High
6 Open-Ended Interpret Data Global High
Answer Key:

1. b>. full credit>2, any other option>0
2. d> full credit>2, any other option >0
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3. a> full credit>2, any other option >0
4. Joints ,cannot move. Both correct.>2,Any one correct>1

5. a. True b. True c.True d.False e. True, All correct full credit>b any three correct>1
,any one correct>0
6. Protecting the brain, balancing the body weight, (Any other relevant example)

>full credit>2, any one>1, no answer >0

gsf3al va ArEIfRAET &1 afa & Fherge
AT Ty
eIl 6
I 8
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T FT AT AT H Y
SR a3 A

T & e ;e

o R & 3o TGEH T AH AT Hehal ST 1T A FHeg = &
o ST TH F T Ol Y@ & FAT 8T Tof Gl

o TT F TH fF H¥ Feuafeyd :RR Asfordt & awlr 7
’{80:| ﬁ ‘HC\C\ Tl %’|
45 { :";T:' == ‘)/—
’\( s "':;(L’;;’;‘;-‘i;’::..\ “,‘
* -

Al & T 3R Io R & ALY 6467 ¥ oI gid & - al=l
fORT @ R gderr ud Rrer BT g1 R & 3 PR F 4RI 3G
gl ST g1 I AR 0T § o arelr 3 & anrt 3R vared g
Hhdl & 3R ATl & Ulell A R A AT ST g1 ASC FI hehlel
¢ AU & AU TH W@l gl O & SR, AFIRAAT R &
AHA & fE A Th RE X AT 8 3R q@ aren feear faudia feer
H G ST &l ASN Th Ish oAl g9 Teicl g1 ST§ FAvell WR A
T G A & 3N gs & gall 3 ,dl U giea &dr § 3R
R T 3T FeIcl &1 T Feh Sl Ueh HWell HASell dl 3E R A
TeTH ST 81 YO & 9@ 38§ S A 3T HgAIdT Hd gl ASel &
R W 37 9@ Y gld ¢ S AT &7 & R & HJolel I Tl
W@ 3 RN S AT Gemr AURUT 7 AcE a1 &1 39y
FlT 9T foramr g o drel & o aarER 39a 8 @ 9@t T g dT
T TgAd &, a9 3¢ del & 3 ¥ I & Aeg AT g& 2
Y HA oI §? FAT I R @9 A Ao gu awn g7 41 I@
WYT ToIdr g ? Gt B o Jg & g3dr gt g1 3T S aden
HEARIET gl &1 9 Th-gER @ gF 81 U 3N Thg@l @ S @l £
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AT Jg Fr g3, gafordr AR caar @ & 3o #F s 2
| &1 IR 3 Jordl H ST 8T ¢ FT & Todeh Joid STHT &
QeI gy 58 31ET YeholdT g1 Tfeh ST ofal N &g T SFellell
& 3R YcAF Tord 38 UFH G &, WY §gT ol 379 dgal § 3R
T Hrely Y@ F AGT el

i - TAHIS3RET

EECh

9T 1 Teh HAveh & RN Hr afd &l ... CCRURERIECIER ICIG])
J

A. gsf3at

B. &Y

C. ArEafat 3R gsfat

D. 3Red & ¥ S A

g2l 2 Teh URT IW@T ¢RR dlel STeAaX &l ATH

A. Fcal B. ®IsT C. AGell D. i3

uee 3 AGTedl # Yo & @l hT T S §?
A. U & ERTeT R & wdfard Wd B

B. e &I Algl # AdE A &

C. fm fefiRor 7 Fgg ¥ €

D. 39 a8t

U9 4 Al 3R I et & FA%w § 3R 398 ArgufAr ik
gsfeal & | 399 & Foleg AauREr fhadr § 3R = 2

e 5 Ig 9 fF Feafaf@d sa9 ac & a1 a81? (3cak - & /

sTel)
A. G1q drem Tl Gehar

B. o ¥ Tafad FF & T 95 & GEt 1 P s 78 )
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C. |19 &1 ofdll fg FiT &5 el & oifehet ATGARNAT FA gl &
D. HGl T 4RT W WR =T H SHHT a1l 7 Ueh 9@ {fHehT
forerra @

E. gsf3ar 3R AmqaRiar Aot shal & aifd & Age aedr 8
uee 6 AGfedl # Yo & 9@l & al » adil -

Item description:

Q.no Q.type Competency Knowledge Content Difficulty Level
1 Simple Multiple Scientific Enquiry Global Low
2 Simple Multiple Scientific Enquiry Global Medium
3 Simple Multiple Scientific Enquiry Global Medium
4 Open-Ended Scientific Knowledge Global High
5 Open-Ended Interpret Data Global High
6 Open-Ended Interpret Data Global High
Answer Key:

1. c>. full credit>2, any other option>0
2. ¢> full credit>2, any other option >0
3. d> full credit>2, any other option >0

4. Fishes have strong muscles as they have to move in the water and also have to
balance themselves.>2

5. a. False b. False c. False d. True e. True, All correct full credit>b any three
correct>1 ,any one correct>0

6. Balancing the body,helps in turning, (Any other relevant example) >full credit>2,
any one>1 noanswer >0

G & °Uch

& Yrehfceh HHTEE
&Il 6
JETT: 9
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3EATY I ATH: Folld-faRIVATe vd 3HTard
YR T 3R 3efehele

e & gfdwer : faezrdt

o et 3R wfshan3il @I gefihd T Hehal |
* e & "ehl & IR H ST Heha |

desert forests

n*

ocean habitats rainforests

fFIfaf@a weat & 3R an

e 1 AR 3R AR o1 T&F AT &l a1 g2
IEECY IR

(a)ﬁ‘e' f&xor

(b) |9 sTSt
(c) a1 g

(d) feor MW
(I)W(a e e
(ii)
(iii
(

i b) HEI &
|)a’IFIT(a)3$\T()¥|€r%
iv) gl (a) 3R (d) &Er &
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g9 2 Sifethed 3R el AT HA old 872

(i) IreThsT & &Y

(ii) gaT Tk YU F 3 Bhs & ATY

(iii) cadT & @Y

(iv) 38T kg & ARfad 3791 FHr L & Ty

et 3 I[EAET gt & foT T@r U i a1 g7

(a) caar AT 3R gl Bdr &

(b) 9 INHAR W AF F IHR & gld ¢

(C) GTAT T HAT HI Ul & [T GfcddT BIET Al & R ST &l
ST 8

(d) 53 3= g 4 fasrfad gt 8 3R diel & FAEArAr gid ¢
(i) aer (b)

(i) (@), (b) 3R (c) (iii) (b), (c) IR (d) (iv) (a) 3R (d)

9 4 I8 YT [T 3aE & TR J g9 §?

HIE WY dTel ST’ 3R AHEURT 3R 3R Jehlel Ted arel U]
(i) gad

(i) YRrEdameT

(iii) T & HewT

(iv) HereT

93T 5 Wl RhE HTETE & A §7?

(i) o & A

(i) YRrEdameT

(iii) gaa

(iv) garT

Item description :

Q.No. | Question Competency Knowledge Content Difficulty
type level
Q1. M.C.Q Evaluate and Content Local Low

34




design a scientific
enquiry

Q2. M.C.Q Evaluate and Content
design a scientific
enquiry

Local

Low

Qs. M.C.Q Evaluate and Content
design a scientific
enquiry

Local

Low

Q4. M.C.Q Evaluate and Content
design a scientific
enquiry

Local

Low

Q5. M.C.Q Evaluate and Content
design a scientific
enquiry

Local

Low

Answer key :

Answer 1. (iii) Both (a) and (c)

Answer2. (ii) with lungs connected to blow hole
Answer3. (iii) (b) , (c) and (d)

Answer4. (i) Mountains

Answer5. (iv)Polar

T 1 gl @ areh R

& faamer 3R dieAfarhr & 3o
HE&IT. 6
T 10
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IR & AT - I T GRIAT T AT
HAYROM: g I AT
fa@ar & gfdwer: faeanrdt :
* faffesr Wor afafafet & fav danfae sauronstt &1 @ #U a6
* T faferse alies & fafdet awqg3il @ f3eiser e T 3marehdr
I HedTehel L Hehdl|
* Hifdsw TR S S| AFF H FoFd I Fhar |

BT 1 giar & Fa8 386 deheliehl & & 3oaid Wl g1 F 1
$r OF gos gy ANTARIT R Hrgred INTART S & fow
iz Merw dls & smer o &

ofd did: https://i.pinimg.com/originals/

F1 &RI & gis a9 & ¢oh W doil & aisl & fow AT fear
AT §l A PR gfdr T Fad Aol T & ToId dlell FRT A § Th §
AR 3oTh @t gl fr a5 Y aifd 3 gRTUt ¥ AR &cdr g
S 9T 9 ToIdr &1 3 AR AT § T AHA T REar g S J9d
ST BIaT & | ST 3¢ 91fd Jo1 & Ueh HTARSFd oITH ST &1 &R &
Gl X% 3R dresh & R & 3R B¢ 8Idr gl o b Sofed Hl 337
el & TIT 33) gaT & SR H hoey T H TgIT & ¢

fArafaf@d gt & 3eav an:

weat 1 g WHT SR &I Tk ¢oh 1 QU &A1 § it 5 fopalt ofar &
3R Tg 380 fhaT / €er dr TR 71 T @l &, O Ig U o
A el IR QX ¢ & QU A H A grem?
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TeaT 2 F1 YA R 380 fohadt / ger &7 aifd & am=m + @ &, 2
Hhs H 5T IRT TF AT 75 g grf?
a) 105.5 &t b) 105.5 m c) 211.1 f&aY d) 211.1 HX
9T 3 3IWIFd 3efede H AT & A1Y A & i’ Ase I Il
STy |
U2 4 3o HRI FT AHA FHT T Oler {Ear Teadr HIdT e
a) 3o¢ &dT & ATLIH F Fest & fow
b) f&ara (drag) &F =t & foIT
c) I I 3TT FIT WA & TaT
d) 39 gl

Item Description :

Q. | Q. TYPE | COMPETENCY | KNOWLEDGE | CONTEXT | DIFFICULTY
No.
Close Evaluate and | procedural global High
Constructed | Design Scientific
Enquiry
2 Simple Evaluate and | content global Medium
MCQ Design Scientific
Enquiry
3 Close Explaining content global Easy
Constructed | phenomena
scientifically
4 Simple Interpret data and | epistemic global Medium
MCQ evidence
scientifically
Scoring Key :

Q1. The speed of the car = 380km/h
The length of the track = 5km
Distance covered in 1 hour = 380 km
No. of times the car will circle the track =380 /5 = 76 times
FC for correct answer and NC for incorrect answer
Q2.d
FC for correct answer and NC for incorrect answer
Q3. accelerating
FC for correct answer and NC for incorrect answer
Q4. d
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FC for correct answer and NC for incorrect answer

o &1 AT
& faamer 3R diefarhr & 3o
&Il 6
g 11
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3TEATT T ATH  YIT - SIATT TF el
ATYRU: ST
dr@sr & gfawer : fagandt -
* 3o TE3T T GG HT Hehdl S BRAT Tl Fehll 8
* ORI & 3N AT Hodlehel T Hehal|
* YeRIY BT &I dealal TUfd & Ty ST & HR FHl Tgaad FT
Hohdl |

gaprel TohoT 1ereer 300,000 fohelidex gfa dehs &1 arfa O drelr
@T H ITAF FAT §1 G Y R 3T arelr FF AT AT A gA b
Tgae # A% 8 fAeTe T TAF oTm g1 S foRvor gt ¥ g €
o 9 IO TS A ST F o e &, 389 e g1 IS o aeg
A el AT FRI0T oA § 98 9 AR gl &, o YT dgl |
gl IR Hehell 3R dgT Teh ST & Silell g

A ersel A, Toh ST Gehrer i e g1 Ife wehrer fher
IEJ F AIH § Al AR TRl &, O 39 I F g8 R® HI
gdg (381eX0T & forw, ST AT Tk SIaR) & 9 & AT gt

BId @Id: https://static.scientificamerican.com/

fonell €T T IMRR GAAT 3HHT ST & AN HT HUIRA LT &
gTcllfeh, BT & TR AR IThid dael Hehdd &1 T IRATA Tl el
I ufd & FRoT 81T §

S A YT & G X B &, o &7 W FHh & 6 Qe
EARY BT HY Feordl ¥ 3T 7 gF K Rufy orr i F6 a@
gTfad Ll &1 o g4 @fdsr W A giar §, dl SR o« gl 8
SIS I AT # 3T Gl §, a O’ A5 BT gl 81 §H Teh e
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$r FUfa o IgaTht  TET THT B & X W Thd g oId SHH
I Teh I TR STell ST &l

frafof@a geat & 3cax arn:

w1 @ qd A 3910 § 3R g H SR FeAen

a) qa A

b) GfaH

C) 3cX

d) gfayor

U 2 Ueh HIRERM 9&g AR R YHRN & AW H @A W/ TH
ST Tl g Fifh

a) 3IRCT a&qd Jhrl & Fid & &7 H FH e gl

b) 3rareRlf a&q denrer @I @8 & qoRA T egATT A& S B

C) WehIeT WIafdd & ST gl

d) YT Fall &l T ¥ gl

TR 3 ol TUH W ol BT Fad 3HOF v T7T & 319U Folel
$T FHGAT §:

. gafex

. ageT

I, e

V. 3me I

a) 13RIl b) I 3R c) 3R 1 d) Il 3R v
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YR 4 Ush AW, ar aed A 3R B 3HA-THA @3 § 3N Th-qaw &
a1 Y 8 ¢l I B T 1 38 a8 W A, ar A T fewr # Hg
$Lh T §? YT 3ccdk FHAS & Tolv Uah I@IAOF ATV |

Item Description :

Q. | Q. Type Competency Knowledge Context Difficulty
No.
1 Simple Explaining procedural global Easy
MCQ phenomena
scientifically
2 Simple Evaluate and | procedural global Easy
MCQ Design Scientific
Enquiry
3 Binary Evaluate and | content global Medium
choice Design Scientific
MCQs Enquiry
4 Close Evaluate and | epistemic global High
Constructed | Design Scientific
Enquiry
Scoring Key:

Q1.b (FC for correct answer and NC for incorrect answer)
Q2.b (FC for correct answer and NC for incorrect answer)
Q3. b (FC for correct answer and NC for incorrect answer)

Q4. Ais facing south (FC for correct answer and NC for incorrect answer)

Sunset
{(West) lA (Facing South)

(Facing North)
B

Shadow
(East)

faega a« 3k ooy
& o 3R g & 3reoh
heIl: 6
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eI FEAT: 12

AT 7 A faeggd R gRay

YR fdegd aef

i@ & gfawe fagareft

* ST TIETOT & ToIT 9 HGT |

« Re-ufafesr & Shasr & foareh & 9wy &1 A «ey wT F&ha|

| One day, Paclo went to Andre's place | But that ls a waste of energy.We have
| to do a project... ‘ to conserve electricity. Don't you know that

pur source of electricity is diminishing?

And maybe open the window to let
the freeh air to coma In Instead

We should conserve electricly bec.
if we don't we are wasting energy.
Saving energy helps the planet!

of using the aircon, right?

/

/EN
IS |
(o) o I

X

@Id: http: //samplehcplan.weebly.com/o ther-resource.html

YeaT 1 GT3Tell Foil T TI&TUT FAT T ARl §7

a) I 48 §arean|

b) §AR I FaT & AT @ &l

c) 8T 39T Afasy Hr difeat garT fhar ST @t Bl

d) &rer AR HYE HT HcATH ITAT gliciehNeh gl

g 2 &7 39 AeAT & YT H TEHAT 82 3cadl I Tgl gt Hl
HROT ¢
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HUA HeAd 3HeAd /

3ol & §9d Tg I 91T gl

I UT:;

9ReT 3 ded I fAegd AR W Folfdeeh Aol GaRT Yeled foham Sirar
gl

Riegd der 1 3N o, wfdet 3k S (Caanodsy

3 YRV A foham SITem g1 T H Th R 4T HT
GeFehol 3R qET TG o1 T Thll Blel &1 T W
gellcH® (+) AR FocAs (-) R o RfET g ¢l
T o Gofhel I UeAlcHSD (+) R T T Tehdl
HUTcH (-) Fafega fomar Sirar &1 @t faegd dot A
HellcA® (+) IR HOTcA® (-) R 8 &1 UacHAs |
BT 57 & &1 811 § ST Jof T 3TaR0T Y ST & Zinc cup  MnOs+

carbon black

R O R T R BF AT AT oo
tellcAsh fAY &l TAIS &gl ST g 3R HUMcAd A FI FAS Fgl
ST 81 MnO,, @eel sefeh 3R NH,Cl & f&0r faegd dqaea &
NE FH Xl gl IROY W g & AT + ve 3N -ve a=f A
3TITH gl

HUE 3R TS FI 39T H SANST AGT ST vl FAiTh

a) fSie & mardad=ig o7 gld § AR 3MRT g & fov gy &
ST dhd gl

b) e fdegd T & WY TATHAT HIAT &, TATAT FATCA &
ST &l

c) TS +ve A FATAT § Fifeh TG Foldelal dl @I ST &, PleleT
-ve 37AYT §ITdT § Fife TG Solaeisil l WIed T g

d) 3¢ Taferse Tufa & 399 & S¢or A1 TFhar gl
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9ReT 4 Fgl eU 1T & faegd IRIY Th S desl AR Yo doil &
Aot s &1 U v oRuy & I & [Rafaf@a 7 @ sia ar w29

N N

e &7
I I |

https://www.doorsteptutor.com

HHEE -
B

P Q

a) Ife IRTY Q & ALY Fed WIT BIT &, dl HH & HH Th dod H

q 3797 oft gt 31 HoheT|

b) IRYY Q H T Fod, IRUY P H Joflell H TG WA A 8

o @3t Hioat §g gy Sl B

c) Foll & Geolel W IRIY P H Th Tod A TSI T

d) Fsll & Yol gled TR IRIY P & T Todll @ Fh1r oTET 3T |

uReT 5 T Tk Al & ATY H@ell H S8 FAW ded X 3R Y fe@rar

g Jod TMHAT IHF & AT STddd gl

—
¥ Y
| £

https://edurev.in/question/1393626/The-diagram-shows-identical-lamps-X-and-Y-connecte

I Th IR Sodf Z, ded X & AR H 31 §34T%‘.*,<‘-ITWY
I THGR qT FIAT THTT gIaT?

a) AT H Tl H SITET THRTT

b) T
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c) AT ¥ 318+ #Ag
d) 9gd #e (T8 q@r =¥t S Heha)

Item description:

Q. Q. Type Competency Knowledge | Context Difficulty level

No.

i MCQ Explain content personal low
phenomenon
scientifically

I MCQ Interpret data and procedural | personal medium
evidence
scientifically

ii MCQ Explain procedural | personal medium
phenomenon
scientifically

iv MCQ Interpret data epistemic personal High
scientifically

\ MCQ Interpret data epistemic personal High
scientifically

Answer Key.

1. b Full Credit = 2, No credit if any other response.

2. Yes. By saving we can reduce the pollution caused while generation of energy in thermal

plants. It also helps

Full Credit= 2

Partial credit =1

for complete answer.

if either response or reason is correct.

No credit for any other response.

to save our natural resources.

3. c Full Credit = 2, No credit if any other response.

4, d Full Credit = 2, No credit if any other response.

5. a Full Credit = 2, No credit if any other response.
TR 5

& Rt 3R e & 3R

et 6

T gE&aT: 13
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G T ATH: Fah GaRT HAR T
HIUROT : Yaeh & &g AT R gicrendor|
dr@er & gfawer: fagandt
a) Sail TXET & forw yIrg |
b) & Sael A faggda aRuY &1 A dE] HT Fhal|

gad Teh UET a&q AT 9erd § S daehr &1 & AT & g
Ig ghrg &1 3eeT AR Ydeh & °RI AR &I &1F § SigT daehly ol
I AEGH AT ST Fehel & 3N 37 by qerdf S olig l
AT AT § 3R 37 graw! & ST a1 gfasa war g

U TR gaF U O aEq § ST 39el kg I[0T 31T
A deh FAU @l § 3R 39T doehld &7 ik 9T 3@t g
cfeleh SfidaeT &l U 3cTeX0T U IhoReX &1 Iosh ¢ foidept 3o
WX F exarsl o W s T P S g1 v T gy &
gFafhd fFU off Thd €, S TFes &1 3R o 3 smefia @y &,
3e¢ YFIhIT Uary @gd gl 31 dlg  , fo¥ehdl, Hilee AR 3 H
[GECIGINIEE I
gerdf I YEhIT IMUR R 1) "oRA" gerdt # gefipd fohar s
T &, S o6 g @ gaferd fRam ST wFar &, ofdhe war ged
T H @A & A9 AT B & AN gEhT §T & 2) "FoR” w@rd, S
QAT A Fohd 8| FUR Yooh "HOR Gerdt" ¥ AT S g

U fdegd goeeh Uh dR &I Fsell & e/ T ST § S Th
gdh o ¥ H S Al & o9 38H ¥ fdegd Orr Rl & oAfhaT
S fdegd URT Tehcll § Al Iaeh Selall s g Sifall g1 3(FE , Hsoll
I "TRA" EhT TSy S fh TA A & T HIs & AR AT U
ST &, S $5ell gaRT YeT T 1T g &7F & §gd FerdT ¢
9T 1 7A g &1 3UAT [degd gaeh §ollel & T fonar irer &
Fifh
i) Ig 3T FAY Teh Yaehrd AU & TAT W &
ii) Tg 3T & gafehd AR greeh IR & Thell &l
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iii) Ig Ueh YR gFeeh ST gl

iv) I 39T H § faegd ORI I IR ST B

a) i 3R ii b) ii, iii 3R iv c) i 3R iii d) i 3 iv
YR 2 gFeeh [dfiesl HTHIaT o g1 Hepall ¢ oidm o T 7 fe@man
I Bl Ycdh Yook A & ¢d , IcoR-yd AR aferor-ga gid &1 T ¢a
AT &1 AT FE AT Yooh o fow oY §I §? T IMellpR Yoeh
# FAR I ¥ 3R gl ¢ w82

WeeT 3 ST Ueh olig ol HIFATSS &, Sl MHAAR W Y W &1 HFarss
gIaT & ST 9TelT a1 gar T AT Fr 3ufeufa J g 3R e v
fAfshdT & ST g1 FAT 39T AeATaf@d FUT & TgAd & IT Agi|
39al 3caX I TEY Seld & flw &RoT fad|

FUA HeAd 3HHeAd /

ST olig @ §eAcT 8, 38l I§ daeh dr 3R
3THNT 8T g

[ UT:

QQH4W?I;W@WH§$WWT Gom}?ass
ST 81 B3 gFah W Yd A R B & AAIRd

A
a) A: N-gi9 B: S-¢a
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b) A: S-¢a B: N-¢[a

9ReT 5 Yaehig @3 Y A G arw foT A N
EEWT?R.IIT%’IQWQ?AﬁT.B%Hﬁ?:ﬁI _g/_\\\/i
b) A: S-¢1a B: N-¢1@ : M/ '/:

; l RS g

IR 6 o few atv O & uar e & 6 v g I o3 d9w
& N-4I & 919 I@ 314 ¢

Compass

=C
vy

it AT fdehed TaH IreoT Gaeas &I g 6T [Ty & gafer § e
Ig B3 Jqadh & GahF 8T & A qfafhar Hr g
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Answer key:
QL. ¢
Q2  The one side of circular disc is N-pole and the other side is S-pole.

Q3 Disagree. As rust is a compound formed by reaction of iron with moist air and its
properties are different from iron.

Q4 b
Q5 a
Q6 c
R & afeat fr Fuafa
& UTehideh FTee
heTr : 6
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AT TEAT: 14
AT AT AH: T
HAUROT: STl & Hld T STl JG9oT
W@ & gidwer: fagandt:
* ST YGNUT & RO I Ggalel HT Hehdl |
* AN SACAT H YWl & TR & IR A faeq uReey & #RT H
feufa &1 et
* YGWUT & TR I HH Il & [T fhT S Fohad dTel GHE FATET I
@IsT ared|
* BOD 3k COD & g#Hs|

ns RN

he
on

Control Board (CPCB) uses
“chemical oxygen demand”
(COD) as a parameterto s sz
measure pollution levels in

2 water bodies. It measures

! how much oxygen is

consumed by reactions in
the water body. COD level 253
above 250mg/1 is considered Polluted

critically polluted Rivers

» Karnataka, Telangana,
Kerala have the most critically

pOliuied water bodies
> 40 out of 41 tr etches of
Ga’lga are ,;.;l g. (‘ ™ mu’:ﬁqk ) 4

S A S R it § wC ¥ B s # vgyer & o
el et Tidlsteler § | 30 AT I THASA & TIC gA qar

gle TIfgw f& BOD 3R COD = ¢ ..

AT ST (@ S S et S o AR T P
GART 3(qgesT I Iishdm & urell ¥ 39fAse Fefaie qerdy & e
& forT 3magTes ISl 6T AT F A & AT SAfdd AT
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ArT(Biological Oxygen Demand BOD) &l 3-5 ppm & BOD ¥R &
gy fAee arel 9t S AST 1% AT ST gl
call 3R TErfeies 3ferdlslet sl AT (COD) Uil 3 3rafrse Ster
I 0Tl 1 Teh AT g1 COD THEToT &l 3YANT IFE STef 3TAR
I $r geTar i fFRET & fov far srar g

Jg TWIET0T 39 a2 W AeRd § f sy aRfFufaat & e
Aol 3y R qary, e off aefaes diffe & gt g @
FlFd & FIoe SB3NFAES H TGl Fahel ¢
LT}
1. 3R QU a0 &7 1 c@d §U faior HRA & fohet Toam 7 MR
T & Tei¥d «&r 872
2. Al & YeNUT & TR T A 1 HUCS AT 87
3. 3Rl & IHTAR ARA H el AfGAT 7N &7 & Jgivd 72
4. FIT 9T | 3Tg BOD ST SfiaeT & folw 3<er g7
5
6

. BOD TR 6-9 ppm & 1Y UT=AT &I AT FAT el ATl ST 872
. B3 AT 3T TUEET § bl arel 9l & 987 AT H s
qery Hise gl W AT gran?
7. If¢ 9t & COD &I TR ’f™AS § ar 41 ghem?
8. COD dE=a ¥9 & BOD & 3if89 F4r gidar g7

Item Description

Open ended Interpret the data | Content Global low
& evidence
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Q.Type Competency Knowledge Context Difficulty Level




scientifically

Open ended Interpret the data | Content Global low

& evidence
scientifically

Open ended Interpret the data | content Global low

& evidence
scientifically

Closed constructed | Explain the | Procedural Global Medium

phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global Medium

phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global High

phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global High

phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global High

phenomenon
scientifically

Answer key:
Kerela, Telangana , Karnataka

. COD : Chemical Oxygen demand is the main parameter of measuring the pollution
level in rivers.

. As per the data 253 rivers are critically polluted in India.

Many animals need high oxygen amounts to survive. If BOD level is high, in water
it means that microorganisms are using most of the Oxygen if the B.O.D. is low,
there is an abundance of Oxygen which leads to good water quality.

In water with a BOD level of 6-9 ppm, the water is considered somewhat polluted
because there is usually organic matter present and bacteria are decomposing this
waste.

Dissolved oxygen (DO) is consumed by bacteria when large amounts of organic
matter from sewage or other discharges are present in the water.
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7. Higher COD levels mean a greater amount of oxidizable organic material in the
sample, which will reduce dissolved oxygen (DO) levels

8. CODis normally higher than BOD because more organic compounds can be
chemically oxidised than biologically oxidised. This includes chemicals toxic to
biological life, which can make COD tests very useful when testing industrial sewage
as they will not be captured by BOD testing.

Scoring Key:

1. FULL CREDIT (2) ifall answers are correct
PARTIAL CREDIT(1) If any two answers correct
NO CREDIT(0) if no answer given

2. FULL CREDIT (2) if correct answer given
NO CREDIT(0) any other answer

3. FULL CREDIT (2) If proper reason given

NO CREDIT(0) any other answer
4. FULL CREDIT (2) ) If proper reason given
NO CREDIT(0) no correct answer
5. FULL CREDIT (2) ) If proper reason given
NO CREDIT(0) if no correct answer
6. FULL CREDIT (2) If proper explanation not given
NO CREDIT(0) If proper explanation not given

7. FULL CREDIT (2) if proper explanation is given

NO CREDIT(O If proper explanation not given

8. FULL CREDIT (2) if proper explanation is given

NO CREDIT(0) If proper explanation not given .

ARd & gRaT o8
& : gATGIoT
HElT : 6
I FEAT: 15

53




3EATY N A AR IR IR a1
WFITEI'RE

drget & gfdwer: faerd:

* aig YNUT & HRON Sl Ygdled HT Hehdl |

* YENUT TR & §aY H faed aReey # #RA &1 Al & ST dehdl|
* YGWUT & R H HH Fel & U fhT S Gl dTel HET TATHT T

ST |

s

=
-
1 P

— accounted for
more than 50% of all
air pollution-related
deaths in India in
2017. Together, the
top-10 states ”~
for air pollution
deaths made up TR
about 75% of the

total casualty figures
that year

years would be the
increase in average life
expectancy if India
were able to clean
its air

Live 2

124 Lakh
deaths due to air
pollution in 2017. That
is 12.5% of the total
deaths in the

country that year

2,600,028
UP, highest deaths

pollution ;
for Sc ne
snay

pollution

About
half, or

514% of the
people who died due
to air pollution were
younger than 70

years

96,977

Indians breathe

air worse than

recommended
air quality
standards

R

HRA H a1 YeuUT Ueh 13X TOeey  Heath §Hedr g1 2019 &
g & el vefid 30 el F @ 21 R #F A1 2016 F 3w &

Wwwmwasw . ARd

#A 3w I &7 140 A=

ol @ ofd § S fR WHO &t geierd dar & 10 =11 3f&e g1 arg
YGNUT & 3TUdH dli¥eh FX el godr & 20 & & 13 Ag HRA A

el 51% WeVUT eI YeuuT & HROT
wI STelel & 3R 5% fearelr 3faerErsir
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IW T T 373 A YeuUT IR AT F AHA A 9RT & e
T dr Reafa @ e &

IR

1. fohegl 5 TAT FT AH TABY ST A YUY & HROT o AT
garfad § 3R gl Ald gfd av¥ 50,000 & fasw g
2. SiaeT T 3TET T MY FAT dlcdd g2 3R AR 379+ gRd

ST&AT T UTCT el H TEIH &Il & al fohdall 398T §¢ Hehdll g7

3. GAR & H glel aTell YA YGNUT 3NN & HROT g1 Tl FT
ST & o GHE HROT AT 87 IS T & T
4. ®BHA F Slfdeh AN & Seld T FlA-AT IF agAs H feishorir

87

5. YW & 3eY AT ¥ AT &, S o AERT & el 317 gquor

T HROT TAT g7
Item Description:

Q.NO

Q.TYPE

COMPETENCY

KNOWLEDGE | CONTEXT

DIFFICULTY
LEVEL

Open ended

Interpret the data
& evidence
scientifically

Content Global

low

Open ended

Interpret the data
& evidence
scientifically

Content Global

low

Open ended

Interpret the data
& evidence
scientifically

content Global

Medium

Closed constructed

Explain the
phenomenon
scientifically

Epistemic Global

Medium

Closed constructed

Explain the
phenomenon
scientifically

Epistemic Global

Medium

Answer key:

1. UP, Rajasthan , Maharashtra , MP , West Bengal

2. Life expectancy is a statistical measure of the average time an organism is expected to live,
based on the year of its birth, its current age, and other demographic factors including
gender. Life expectancy can be increased by 1.7 years
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3. Causes of Industrial Pollution

Inefficient Waste Disposal.
Lack of government Policies to Control Pollution.

Unplanned Industrial Growth.

Use of Outdated Technologies.

Presence of a Large Number of Small Scale Industries. ...
Leaching of Resources From Our Natural World.

o 0k whE

4.Air pollutants emitted from biomass open burning, include common greenhouse gases ,
such as carbon dioxide (CO2), carbon monoxide (CO), methane (CH4) and nitrous oxide
(N20) as well as volatile organic compounds (VOCs), ammonia (NH3), sulphur dioxide
(SO2), nitrogen oxides .

5. In the fire crackers, there are certain chemical compounds packed inside which combust
with oxygen in the air and convert them into other chemicals, further releasing smoke and
harmful exhaust gases like Carbon Dioxide, Carbon Monoxide and Nitrogen in the process.

Scoring Key:

1. FULL CREDIT (2) ifall 5answers are given
PARTIAL CREDIT(2) If any two answers are correct
NO CREDIT(0) if no answer given

2. FULL CREDIT (2) If proper calculations is done and correct years given.
PARTIAL CREDIT(1) If any one part answered correctly.
NO CREDIT(0) any other answer

3. FULL CREDIT (2) If any three reasons are given
PARTIAL CREDIT(1) If any one reason given
NO CREDIT(0) any other answer or no answer.

4. FULL CREDIT (2) ) If any three gases names are mentioned
PARTIAL CREDIT(1) If any one gas name given
NO CREDIT(0) no correct answer

5. FULL CREDIT (2) ) If correct reason given
NO CREDIT(0) if correct reason given answer

$-aTgsT AT T ’TGIRAT
&7 9ITaoT
eIl 6
FEgT: 15
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3EATY N A AR IR IR a1

AR argASH & 3fierdiotel

drga & gidwer: faeardt

* aig YNUT & HRON Sl Ygdled HT Hehdl |

* fdegd @ Tolel aTel dTgeil & YN & Heed bl HHAST Hehdl|

* UeNUT TR & Hau H faeg qReed & #Ra & f&ufa & See

* UGNUT & TR H HH A & [ e ST bl arel AT gamdl i
STt |

* FH 3Tl & HAgcd 3R AT TOEXT W g% 3YcTeT YHIT I

qHaSE |

0.28m

- Number of electric/ 3
hybrid vehicles actually =~
on the roads as on May
22, 2019. That is a mere
2% of the 2020

Top-10 states for e-vehicie adoption

Maharashtra Y 36,015 cars i

‘ Fuel litres litres

ﬁ% Greenhouse 2m 0.11m
207 Gases tonnes tonnes
e — T

us fagga =@ifaid arget (EV) UET aleel § St Haleld & T U AT
3 faegd Al #T 39T FaT g1 Tk fAeggd aifeld args i
aigell & Wil § el faoTell SR Farfed fhar ST § A1 U A
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forstell # uRafdd & & fav deir |, 9k 9o, Ut Qoit a1 fagga
SfaT & T To-Afga st &1 g3 Far Jrar gl

faega @iferd amget amgat & Aot & enfAer @i 8, dfed a8 a5
3R Yo argeit , Hg AR unh & FA & e, fegd faAe 3R
faega 3rafker o= & AfAd & g &

faega wifad arget 319a Siidetehrer & Sfland Su=l & deflel ardl
dTgeit T Jelell F HIHT HHA 3cHolel 3cdeed I &, 38 Hid Pl STl
foear S foF fastelr 3e1 oar 81 I8 31T ohRY & ST g Sid gH
Jg d2T d ¢ & FT IJ§ FH 3coid, Yed Il aral iR TUEHT
ST T STErell 3T & A ol &l H Jgh g

gaT

9T 1 $IRA TR SaRT d92020 H &N H 5-dlgl Y& FlaA F Fel
&I FIT AT? d TEAT &l fohdalr gl &Y 91w g 31K 378fr off
frasi% 9 &7

9eeT 2 ToieT 3 Tl o QU a0 iy & 3[R 20,000 argait & =i
e e fRam B

TesT 3 gimer 34T 3R U Fr @UT & AFHT H ARA fohder gfaera
gl gl T 9T 872

g 4 ieT AT o Ifad % & TG H dgak dlish o giider fohar
IAT g7

YesT 5 S-aTgall T 3UART el & AT BIIS 87

YT 6 SHANRH ST &I dad! AT AT & v gifldsRse gl 59
a2 &1 3R aifsa fife

Item Description:

Open ended Interpret the data | Content Global low
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Q.Type Competency Knowledge Context Difficulty Level




& evidence
scientifically

Open ended Interpret the data | Content Global low
& evidence
scientifically

Open ended Interpret the data | content Global Medium
& evidence
scientifically

Open ended Explain the | Content Global Medium
phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global Medium
phenomenon
scientifically

Closed constructed | Explain the | Epistemic Global Medium
phenomenon
scientifically

Answer key:

Ansl: The total target of the Govt of India to launch e-vehicles in the country by year 2020
was 1.6 crores. We have been able to achieve in number is 0.28 m and 98 % is still left
behind.

Ans2:Tamilnadu , Rajasthan , Karnataka , WestBengal .
Ans3:
a. Fuel:
saving target :9500 m
Actually saved :45.9 m
% saved =45.9/9500 * 100=0.48%
% not been able to save = 100-0.48=99.52%
b. Green house gases
saving target :2 m
Actually saved :0.11 m
% saved =0.11/2 * 100= 5.5%
% not been able to save = 100-5.5=94.5%
Ans4: In terms of target achieved Green house gases target is better achieved .

Ans 5.: .Environment friendly .

Electricity is cheaper than fossil fuels.
Maintenance is less frequent and less expensive.
Makes less noise

Ans 6. When fossil fuels are burned, they release carbon dioxide and other greenhouse gases,
which in turn trap heat in our atmosphere, making them the primary contributors to global
warming and climate change.
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4.

SCORING KEY:

FULL CREDIT (2) ifall answers are correct
PARTIAL CREDIT(2) If any two answers correct
NO CREDIT(0) if no answer given
FULL CREDIT (2) if all correct answer given
PARTIAL CREDIT(1) If any two answers correct
NO CREDIT(0) any other answer
FULL CREDIT (2) If proper calculations is done for both answers
PARTIAL CREDIT(1) If any one calculation is correct
NO CREDIT(0) any other answer
FULL CREDIT (2) ) If proper answer is given
NO CREDIT(0) no correct answer
FULL CREDIT (2) ) If any three reasons are given
PARTIAL CREDIT(1) If any two answers are given
NO CREDIT(0) if no correct answer
FULL CREDIT (2) If proper explanation not given
NO CREDIT(0) If proper explanation not given

galg 3 & Tgo ifww

& UThide TR
H&IT 6
T g&AT: 16
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AT FHoR-HIGUT TG fAgerst

ITYROM: R G e v 39fse gaert

drasr & gfawer: faeamedt :

* 39fASC 3cUTEsT & HRUN IR gTh [AffieeT wat Fr ggarT HT
Hohdl |

o 3fRAST 3cUTesT U & Hgcd al GHST Tohal|

* YRA & AffieT agd fr Tufa =7 TFHa|

* 3UTASC 3cUTesT T HH Hel & U T Sl arel Joq@ SIrEt
qHaSE |

* INTT &1 & HAecd I GHSI & TATEROT W SHHT T THIT Isar
gl

DUBIOUS DISTINCTION FOR DELHI

| " INDIA_ 4
Uncollected Plastic waste
lastic waste collection
p
15,564 o
10,376 1D .
(40% of total) (60% of “’”1“ ?r
TOP 10 CITIES:
Delhi 689
Chennai [ 429
Kolkata [ 125
Mumbai I 108
Bengaluru I 313 Plastic waste
Ahmedabad EREEEG— 241 generation in
Hyderabad | 199 &4 60 major
Surat [N 149 cities of India
Kanpur [N 106
Pune [N 101 4,059
TPD: Tonnes Per Day; (Figures are rounded off); (Source: CPCB)

319fAse 3cureaTd H 37 I gert o anfAe e Srar &, Ig 9 A
3Tl Yoleldleileh0T AT $RI9 &1 A fagers fhar Sme ar w167 fohar
ST | FIRITfeIehT B3I 319frse, Hf¥ 3R ag) 3rafrse, RfFcar smfase,
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3Tt 37UfRISe, SaRA $eeT g 379fse, 3R 9 fus I s
RAffeT 9 & F 39T g1 &l

HRA H & &I oererer 0.1 Afoas e sIRdrfelr 3 T
3cUedT BIaT gl ST fF oersrer 36.5 Afoa e ufday 81 9IRaG &
yHW ]l # gfd cafFa 3rafrse 3curest 0.2 fhetamd & 0.6
fheleame a= gl

2016 & 3MA & AR , ¥R H & Ao 277 AfSTT e
STIRUTelehl S el UeT gIar &1 Ig QX GfEor TiRar # Yer gl darel
334 fAfTeT o I FT 80% & 318 § 3R & AT Uar gt arel
3fRas FAY T AT 13% &l

e HRI H Irele 62 fAfeasT @7 (MSW) #eRT 3¢t 8IdT &
3R gg wigsgamly it 15 § & I8 2030 & 165 fAfoIT T d=
qgd STeaT| 43 AT e SIRUTeiRT o HTRT Alellsll Tha fhar
Sar g, oaH & 31 fAfora sme e A s aar g, A% 11.9
Ao #1 [ues Far amar g1
TRaT
1. 3 U a7 3Thsl & AR §AR T H fohd ey & colrives
FI FT cUles JHE Il § 3R Hled AT FH 3cUead Il 872
2. fordr o e a1 oo # HUfAIST TR &l AU FHT ATIGUS FAT 872
3. T oX feu 71T & W1 & Udish &1 &7 3y g2
4. T 91T Hiehsl & AR feeel & 3rafdrse 3curest 3R Fag H
areafaes feufa #ar g7
5. RI9 &1l T fAST T 7
6. 2030 T HR & A & H IcToed e A fovcdd % Hr g gt
STt ?

Item Description

Q.NO

Q.TYPE COMPETENCY | KNOWLEDGE | CONTEXT DIFFICULTY

LEVEL
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Open ended Interpret the data | Content Global low
& evidence
scientifically

Open ended Interpret the data | Content Global Medium
& evidence
scientifically

Open ended Explain the | content Global Medium
phenomenon
scientifically

Closed constructed | Interpret the data | Epistemic Global Medium
& evidence
scientifically

Closed constructed | Explain the | Epistemic Global Medium
phenomenon
scientifically

Closed constructed | Interpret the data | Epistemic Global Medium
& evidence
scientifically

Answers Key:

5. Highest :Delhi, Lowest : Pune

6. The parameter of measuring waste level in any city or country is
a. waste generated=waste collected is good level
b. waste generated —waste collected >waste uncollected is bad level

3. green symbol in the picture is the symbol of waste minimization which includes 3
R’s Reduce , Reuse & recycle

4. The actual status of waste generation in new Delhi as per the data given is that
Total plastic waste generation > waste collection
Waste collection is 60% and waste which gets uncollected is 40%

5. The purpose of a landfill is to bury the trash in such a way that it will be isolated from
groundwater, will be kept dry and will not be in contact with air. Unlike a compost pile, a
landfill is designed to keep the trash away from people, but does not allow it to decompose
quickly.

6. current waste generation = 62 MT
Expected waste generation in 2030=165MT
% increase = 165-62=103/62*100=166.12%
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Scoring Key:

8. FULL CREDIT (2) ifall answers are correct
PARTIAL CREDIT (1) If any one answer is correct
NO CREDIT (0) if no answer given

9. FULL CREDIT (2) if correct answer given
NO CREDIT (0) any other answer

10. FULL CREDIT (2) If proper symbol explanation is given mentioning 3 R
PARTIAL CREDIT (1) If 2R are mentioned

NO CREDIT (0) any other answer

11. FULL CREDIT (2) ) If proper reason given
NO CREDIT (0) no correct answer

12. FULL CREDIT (2) ) If proper reason given
NO CREDIT (0) if no correct answer

13. FULL CREDIT (2) If correct answer is given
NO CREDIT (0) If wrong answer is given
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